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Which one of the following is not included in Five Kingdom System of Classification?

o & @ 9 g Se1a geffRsoT & 3iddd =18l I@T T 82
a.
b.
C.
d.

Plantae (Telc)
Animalia (Tfaaferam)
Virus (fasmoy)
Fungi (shdah)

Which classification system is based on Natural affinities among the Organisms?

et Sial & &/ 91T Siiearer Fal & YR W HieT A1 gafientor g2
Natural System of Classification (STehfcier gaffenor &)
Artificial System of Classification (T¥# aaffertor o)

a.

b.

o

Phylogenetic System of Classification (STfgeia gefierior &)
Genetical System of Classification (3TeJafRIehra Fafientor o)

Causal organism of ‘Potato Spindle Tuber’ disease’ is

a.
b.
C.

d.

Reduced male gametophyte in plants is called

Virus (fawrop)
Bacteria (SfTaTop)
Fungus (ehd<h)
Viroids (dTSISS)

=geAlehcl X YIAhIC, TRER! FAT Hgl STl &2

a.
b.

C.

Seed (&fI<T)
Sperm  ([PTO])
Pollen (9RTeT)




d.

Cone (1)

The process of Double Fertilization is characteristic feature of

Qe AT et & @ g v faRivdr g2

a.
b.
C.
d.

Angiosperm (3TTddsloi)
Bryophyte (STAIHIET)
Pteridophyte (SR3IwTSE)
Algae (2¥arer)

‘Cell theory’ was proposed by
(e fewra fFas garT gfaaried fwar )

a.
b.
.
d.

Benthem and Hooker (S 3R g%R)
Temin and Baltimore (ST 3R dTe¢AR)
Schleiden and Schwann (2eT83T iR 2aTT)
Watson and Crick (aredia 3R foheh)

Which of the following is an example of Basic amino acid?

T & @ dleT @ A 3FaT G THhid @ 82

a.
b.
C.

d.

Glutamic acid (Fe[efAeh 37oer)
Lysine (SITsf&sT)

Valine (afore)

Serine (TReT)

In C;plants, which one of the following is Primary Acceptor of CO,?

C,aleat & CO, 1 wTufAs IET ST gar &2

a.
b.
C.

d.

RUBP (3MR.Z.s.4T.)
OAA (31.T.T)
PGA (41.301.7)

PEP (d.3.4T)

Symbiotic nitrogen fixation is associated with

Heoidl Aserat Eadevor &1 geer fhaa &2

a.
b.
C.

d.

Frankia (Phfeh3T)

Rhizobium (IESNfaa#)
Bothaand b (a 31X b k=)
Nostoc (TECTeh)



10. Which one of the following is a final stage of Meiotic Prophase 1?

A Tqemrsrer & Githot | 1 TR TROT HieT g2
a. Diakinesis (qRTTcisha)

b. Diplotene (gfduce)

c. Pachytene (¥eT9eT)

d. Zygotene (JIHYCT)

11. Rate of reaction gets doubled or decreased by half for every ............ .change of
IfAfRaT AT R IR o & URET 9T AT a6 SN g S § a1 R gge ¥
el @ ST 2
a. 10°C
b. 20°C
c. 30°C
d. 40°C

12. Which one is an example of Purine?
R T T 3TN FT §7
a. Thiamine (YrIfA=)
b. Cytosine (TT8eIf&=T)
c. Uracil (ZUf@re)
d. Adenine (T3fa)

13. Loss of chlorophyll leading to yellowing of leaves is called
quigRa & & & SROT gfadi &1 drel g1 ST, F3T FHgaldl g7
a. Chlorosis (FRITEH)
b. Necrosis (ATAH)
c. Osmosis (3T EATEH)
d. Meiosis (fA3nfaw)

14. Haemoglobin exhibits (greeenifasT uefRia &ar &: )
a. Primary structure of protein (S1EleT & STafAes TIT=)
b. Secondary structure of protein (S1EleT &I gfadae TXT=T)

c. Tertiary structure of protein (I & JclIeh HITAT)

d. Quarternary structure of protein (€Il r TISch TITAT)



15. The stage at which cells remains metabolically active but no longer proliferate is called

FIRAFT oo H ag rgeer A Hee oo 30 @ @fFg dar @dr § W Refaa
oTel gl
a. Gjphase (G; TXOMN)
b. G;phase (G, TIOT )
c. Gyphase (GodOT )
d. Sphase (S TIOT)
16. Maximum absorption by Chlorophyll -a occurs in (q0TgRd-a &T 3f&da aeivor & a7 #
gIdT 87?)
a. Blue and Red region (sfrerm 3iR orer &19)
b. Redand Yellow region (effel 3iX drer &19)
c. Blueand Yellow region (sfrelr 3R drerm &19)
d. Greenand Yellow region (8 3R dram &19)

17. Embyro sac consist of (0TS fhetdl AT JofdT §7)
a. One eggcell (TH 378 HifAH)
b. Two synergids and Two polar nuclei (& HeTIeh HIARIT TUT &1 YT =GTFeI3TTs)
c. Three Antipodal cells (=T gfdearaa Fifwm)
d. All (Teh)

18. Which one of the following is colourless plastid?
faeet & @ FT a1 FaF T g &2
a. Chloroplast (FRICATER)
b. Chromoplast (SRIHTCHEE)
c. Leucoplast (¢gehITell¥c)
d. Aleuroplast (TegTelR<)

19. Which one is not a type of chromosome (based on the position of Centromere)?
HPIRR 7 Jrafeufy & IMUR W U B 6H B @ ¥ @i aw § e A
O HloT AT IORGT S8 Al AEH AT
a. Metacentric (Herdfes)
b. Sub-metacentric (Fd-HcRifeH)
c. Acrocentric (TshIATEh)
d. Eucentric (Z&feeh)




20. Sunlight is essential for photosynthesis- demonstrated for the first time by:

“YRILT FYATOT & AT GF & GohreT IR & - T GE U A g
a. Ingenzhousz (ES1T8I39T)
b. Blackman (SelehdieT)
c. T.W. Englemann (TsTel#ie)
d. Priestley (SrFee)
21. Interphase is also called as: (3cRTAEAT FT §H 3 o & T AT g1)
a. Active phase (Tfshar 3raeam)
b. Resting phase (famaTasan)
c. Inactive phase (3TfshT 31aam)
d. Passive phase (RIS 3raam)

22. In a protein, N-terminal amino acid is

WA T H, N- BR W AT 3 A HFT AT © oo :
a. 1% Amino Acid (TI& 3T#HAT 31Fd)

b. 2" Amino Acid (gfadiT 3HIAT 31Fd)

c. 3 Amino Acid (Jciige 31T 31Fa)

d. 4" Amino Acid (IS 3T 31Fd)

23. Which of the following is not associated with N, fixation?
SAH H i ATSclolT Eleor 8§ gafvd 78 82
a. Azotobacter (TSilcldae)
b. Rhodospirilum (ISrEaTRea)
c. Anabaena (TsITdl=T)

d. Chlamydomonas (FIHATSSIAIATH)

24. Which one is a characteristic feature of Phylum Chordata?

et # & &l A [9Avar, FATHr g & T @dT 8?7

a. Presence of notochord. (Fs&Xss] $r 3ufeufa)

b. Presence of Dorsal Nerve cord. (56 T@ell df¥ehT Tl T 3ufEyfa)
c. Paired pharyngeal gill slits. (ZFPHT TT=A Fea )

d. All (3uFd gai)

25. Members of Porifera are commonly knownas .................... .

QIR T & TE8T AT IT T g Bovevnne. .
a. Sponges (FI<T)



b. Corals (¥dTel)
c. Insects (PIT)
d. Amphibians (3HIR)

26. Symbiotic association between Algae and Fungi is called .............. .

darer 3R FaF & FSdr HEY Hl ..o, ed ol
a. Micorrhiza (ATSHRISS)

b. Lichens (egddeT)

c. Rhizobium (TEifezre)

d. Viroids (arsirasy)

27. On the basis of shape, which one of the following is not a category of bacteria?

3T & IR R oot & & &ieT Sy &1 T a9f =781 g2
a. Coccus (leFehd)

b. Spirillum (FIBRE)

c. Cone shaped (2FhaThR )

d. Bacillus (3f&e™)

28. Phylogenetic system of classification is based on
ST gaffentor o fhe o 3mema 82
a. Evolutionary relationship ( faerdT &eern)
b. Natural affinities among organisms (SNaenRAT & &I & Yrehfds Heer)
c. Morphological characters (STed €T 3]0T)
d. Vegetative characters (I 3T0T)

29. Protein coat of Virus is called (TASTop3it & 9 @ ST 3TGROT FAT FHgellh £7)
a. Viroids (arsirasy)
b. Mycobiont (aehrer)
c. Plasmid (ColfGHS)
d. Capsid (HTH3)
30. Fusion of two nuclei is called (GT gehl T Toldel FIT FHgaTdl 87)
a. Plasmogamy (CelloATIAY)
b. Karyogamy (rfdi#)
c. Chalazogamy (TelTsiea)
d. Polygamy (GYelratei)




31. Natural System of Classification is given by (JTehfcieh gafiehioT T feheteh garT fem Iram?)
a. Bentham and Hooker (S 3R ga)
b. Whittaker (fgca)
c. Tamin and Baltimore (¢f@sT 3R SecIAR)
d. T.H.Morgan (1.0, AET)

32. All prokaryotic organisms were grouped together under the kingdom ..

(@ TrsRAfeed Shaeniar & foeg Seota & T@r ar §?)
a) Monera (HRT)

b) Protista (WTe¥eT)

c) Fungi (FeTs)

d) Pantae (Telc)

33. Which one of the following molecule forms the reaction center in LHC?

AT @d #H hlsl AT 3707, TehIN FAGUT cfollel & HTATHAT e T Sl 82
a) Chlorophyll a (FeRIfthel-T)

b) Chlorophyll b (FeRifther- &)

c) Carotenoid (FRIfeA3MISH)

d) Xanthophylls (St&iftrer)

34. In PS | the reaction center has an absorption peak at ....... .

PIEIBTCH | & 3idard, JfRTRAT Fg Fr @awor fiv g ...

a) 680nm
b) 700nm
c) 600nm
d) 780nm

35. The fixation of CO, into a stable organic intermediate is called ......... .
FIA SBIHFASS HT U Flfoich ALITT FH IRATA .............. HEgelT gl
a. Reduction (37dehI0T/ JA9TI)
b. Regeneration (J=Af=T&ToT)
c. Carboxylation (sTaffa@ererT)
d. Oxidation (3TTTT / JTFHRIOT)



